Cut along the outer border and affix this label to your sealed bid envelope to identify it as a "Sealed Bid". Be sure to include the name of the company submitting the bid where requested.

#### SEALED BID • DO NOT OPEN

SEALED BID NO.: 178-0423-CP (JJ)

BID TITLE: Forest Lakes Boulevard Phase II - West of

Pine Avenue to West of Race Track Road

(PID 002110A)

DUE DATE/TIME: July 17, 2018 @ 3:00 P.M.

SUBMITTED BY: Pepper Contracting Services, Inc.

(Name of Company)

DELIVER TO: PURCHASING DEPARTMENT

Board of County Commissioners Annex Building –6<sup>th</sup> Floor 400 South Fort Harrison Avenue

Clearwater, FL 33756



#### Accessing Invitation to Bid Documents:

Due to the large size of construction files, Pinellas County is utilizing an FTPS site to post construction bid documents. To download plans and specifications, please visit <a href="https://files.pinellascounty.org/purchasing">https://files.pinellascounty.org/purchasing</a>. Click on the name of the bid you are looking for to view and download individual files related to this bid. Save the file to your computer before viewing, for potentially faster downloading. Review immediately for scheduled prebid meeting dates.

#### Please Note:

From time to time, addenda may be issued to this bid. Any such addenda will be posted on the Purchasing Web site, <a href="www.pinellascounty.org/purchase/Current\_Bids1.htm">www.pinellascounty.org/purchase/Current\_Bids1.htm</a>, from which you can obtain the plans and specifications for construction bids.

Before submitting your bid you should check our Web site to download any addenda that may have been issued. Please remember to sign and return the Addenda Acknowledgement Form with completed bid package, if applicable.

178-0423-CP (JJ)

Page 1 of 64

SUBMIT TO:

PINELLAS COUNTY BOARD OF COUNTY COMMISSIONERS 400 S. FT. HARRISON AVENUE ANNEX BUILDING – 6<sup>TH</sup> FLOOR CLEARWATER, FL 33756



BID NUMBER: 178-0423-CP (JJ)

### **INVITATION TO BID**

ISSUE DATE:

June 15, 2018

TITLE: Forest Lakes Boulevard Phase II - West of Pine Avenue to West of Race Track Road (PID 002110A)

SUBMITTAL DUE: July 17, 2018 @ 3:00 P.M.

AND MAY NOT BE WITHDRAWN FOR 120 DAYS FROM DATE LISTED ABOVE. BID SUBMITTALS RECEIVED AFTER SUBMITTAL DATE & TIME WILL NOT BE ACCEPTED AND WILL BE RETURNED DEADLINE FOR WRITTEN QUESTIONS: | SUBMIT QUESTIONS TO: Jim Just AT

SUBMIT QUESTIONS TO: Jim Just AT jjust@pinellascounty.org

July 6, 2018 BY 3:00 P.M. jjust@pinellascounty.org

Phone: 727-464-3205 Fax: 727-464-3925

rogressive Joe Lauro CPP3/CPPO

Plans Prepared by: HNTB Corporation Engineer/Project Manager is:

Erin Lawson, P.E., Public Works

Engineering Estimate \$13,088,689.61

THE MISSION OF PINELLAS COUNTY

Pinellas County Government is committed to progressive public policy, superior public service, courteous public contact, judicious exercise of authority and sound management of public resources to meet the needs and concerns of our citizens today and tomorrow.

JOSEPH LAURO, CPPO/CPPB Director of Purchasing

**REVISED: 07/2017** 

PRE-BID DATE & LOCATION:

**NOT APPLICABLE** 

BIDDER MUST COMPLETE THE FOLLOWING

NO CHANGES REQUESTED BY A BIDDER WILL BE CONSIDERED AFTER THE BID OPENING DATE AS ADVERTISED. BY SIGNING THIS BID FORM YOU ARE ATTESTING TO YOUR AWARENESS OF THIS POLICY AND ARE AGREEING TO ALL OTHER BID TERMS AND CONDITIONS, INCLUDING ALL INSURANCE REQUIREMENTS.

BIDDER (COMPANY NAME): Pepper Contracting Services, Inc.	_ D/B/A
MAILING ADDRESS: 6520 Asphalt Avenue	CITY / STATE / ZIP Tampa, FL 33614
COMPANY EMAIL ADDRESS:Douge@peppercontracting.com	PHN: (813 868-7719 FAX: (843 270-0011
*REMIT TO NAME: Pepper Contracting Services, Inc.	
(As Shown On Company Invoice) FEIN# 59-3221511	CONTACT NAME:Douglas J. Ebbers, Executive VP
Proper Corporate Identity is needed when you submit your bid, specifically how your firm is registered with the Florida Division of	PRINT NAME:Douglas J. Ebbers
Corporations. Please visit <a href="www.sunbiz.org">www.sunbiz.org</a> for this information.	EMAIL ADDRESS:Douge@peppercontracting.com
I HEREBY AGREE TO ABIDE BY ALL TERMS AND CONDITIONS OF THIS INVITATION TO BID, INCLUDING ALL INSURANCE REQUIREMENTS & CERTIFY I AM AUTHORIZED TO SIGN THIS BID FOR THE SUBMITTER.  AUTHORIZED SIGNATURE:	
AUTHORIZED SIGNATURE:	
PRINT NAME/TITLE: Terry B. Cradick, President	

RETURN THIS FORM WITH YOUR RESPONSE

FOREST LAKES BOULEVARD PHASE II - WEST OF PINE AVENUE TO WEST OF RACE TRACK ROAD PID NO. 002110A

BID NO. 178-0423-CP(JJ)

# **ADDENDUM NO. 4**

						ces, Inc.
Pay Item No.	Description	Quantity	Unit	Unit Price		Amount
ROADWAY / DRAINAGE						
005-0700	SURVEY, Construction Layout	1.00	LS	175,000.00	\$	175,000.00
005-0800	SURVEY, Quantity Measurements	1.00	LS	20,000.00	\$	20,000.00
005-0850	SURVEY, Permitting As-built Requirements	1.00	LS	45,000.00	\$	45,000.00
101-0100	MOBILIZATION	1.00	LS	1,000,000.00	\$	1,000,000.00
102-0100	MAINTENANCE OF TRAFFIC	1.00	LS			
102-1000	MAINTENANCE OF TRAFFIC	1.00	LS	985,000.00	\$	985,000.00
102-1076	ADVANCED ARROW WARNING PANEL	35.00	DAY	8.20	\$	287.00
102-1099	SIGN, VARIABLE MESSAGE (3 Lines) (Temporary)	1,388.00	DAY	11.00	\$	15,268.00
102-1100	OFF DUTY LAW ENFORCEMENT OFFICER	91.00	HR	70.00	\$	6,370.00
102-1250	COMMERICAL MATERIALS FOR DRIVEWAY MAINTENANCE	201.00	CY	26.00	\$	5,226.00
102-1300	BARRIER WALL, CONCRETE, (Temporary), Per PCPW Std. Tech. Spec. 102-1000	180.00	LF	20.00	\$	3,600.00
102-1310	BARRIER WALL, CONCRETE, LOW PROFILE, (Temporary), Per PCPW Std. Tech. Spec. 102-1000	2,388.00	LF	20.00	\$	47,760.00
102-1311	BARRIER WALL, CONCRETE, LOW PROFILE, Relocate (Temporary), Per PCPW Std. Tech. Spec. 102-1000	750.00	LF	10.00	\$	7,500.00
102-1501	PAVEMENT, ASPHALT, Temporary, Includes Base, Installation, & Removal	18,993.00	SY	1.00	\$	18,993.00
102-1801	PAVEMENT MARKING, 6" Wide, Temporary, (Skip or Solid) (White, Black, or Yellow)	162,211.00	LF	0.30	\$	48,663.30
102-1802	PAVEMENT MARKING, ent/Temporary All Widths	15,639.00	LF	1.30	\$	20,330.70
102-1804	DIRECTIONAL ARROWS, PAINTED, temporary	148.00	EA	26.00	\$	3,848.00
102-1806	PAVEMENT MESSAGE, PAINTED, temporary	155.00	EA	36.00	\$	5,580.00
102-61	SIGN, Business, 36" x 24"	6.00	EA	129.00	\$	774.00
104-1	PREVENTION, CONTROL AND ABATEMENT OF EROSION & WATER POLLUTION	1.00	LS	30,000.00	\$	30,000.00
104-16	TURBIDITY BARRIER, Floating	287.00	LF	8.80	\$	2,525.60
104-17	TURBIDITY BARRIER, Staked	6,429.00	LF	3.10	\$	19,929.90
104-18	FENCE, STAKED SILT, FDOT Type III	3,847.00	LF	0.70	\$	2,692.90
104-20	SOIL TRACKING PREVENTION DEVICE	2.00	EA	4,193.00	\$	8,386.00
104-23	SODDING, Bahia, temporary for erosion control	1.00	LS	20,000.00	\$	20,000.00

BID NO. 178-0423-CP(JJ)

# **ADDENDUM NO. 4**

Pay Item No.	Description	Quantity	Unit	Unit Price		Amount
104-7	INLET PROTECTION SYSTEMS	79.00	ΕA	82.00	\$	6,478.00
110-0100	CLEARING & GRUBBING	1.00	LS	400,000.00	\$	400,000.00
120-0300	EXCAVATION OF UNSUITABLE MATERIAL	31,539.00	CY	10.00	\$	315,390.00
120-0400	FILL MATERIAL, for replacement of unsuitable material	25,884.00	CY	10.00	\$	258,840.00
120-1100	GRADING	1.00	LS	500,000.00	\$	500,000.00
160-0012	STABILIZATION, Type B, LBR 40, 12" Min. Thickness	51,409.00	SY	4.00	\$	205,636.00
234-1250-400	SUPERPAVE ASPHALT BASE, Type B 12.5, 4" Min. Thickness	7,212.00	SY	22.00	\$	158,664.00
234-1250-900	SUPERPAVE ASPHALT BASE, Type B 12.5, 9" Min. Thickness	38,070.00	SY	48.00	\$	1,827,360.00
334-2095-000	SUPERPAVE ASPHALT CONCRETE, Type SP 9.5 or SP 12.5, Fine, Traffic Level C, Variable Thickness	8,185.90	TN	99.00	\$	810,404.10
380-2200	MILLING EXISTING ASPHALT PAVEMENT, 2" Average Depth	17,922.00	SY	4.50	\$	80,649.00
400-0-11	CONCRETE CLASS NS, GRAVITY WALL	400.00	CY	540.00	\$	216,000.00
425-102-4001	INLET, Curb, FDOT Type P-1, 4'-0" ID, < 10'	9.00	ΕA	6,092.00	\$	54,828.00
425-1315-3601	INLET, Curb, FDOT, type P-1,3'-6" ID, Partial S-312, S-612	2.00	ΕA	4,761.00	\$	9,522.00
425-1411-4050	INLET, Curb, FDOT Type J-1, 4'-0" x 5'-0", < 10'	3.00	ΕA	8,019.00	\$	24,057.00
425-1421-4040	INLET, CURB, FDOT TYPE J-2, 4'0" X 4'0", <10	1.00	ΕA	7,920.00	\$	7,920.00
425-1421-4050	INLET, Curb, FDOT Type J-2, 4'-o" x 5'-0", < 10'	1.00	ΕA	7,978.00	\$	7,978.00
425-1485	INLET, Curb, FDOT Type 8, Partial, < 10' S-414, S-511	2.00	ΕA	6,858.00	\$	13,716.00
425-1534-6001	INLET, Ditch Bottom, FDOT Type E w/Transverable slot,, J Bottom, 6'0" DIA, < 10'	2.00	ΕA	8,138.00	\$	16,276.00
425-1552	INLET, Ditch Bottom, FDOT Type E, w/Transversable slot, < 10'	30.00	ΕA	5,022.00	\$	150,660.00
425-1553-5050	INLET, Ditch Bottom, FDOT Type E, w/Transversable slot, J Bottom, 5'-0" x 5'-0", < 10'	1.00	ΕA	6,620.00	\$	6,620.00
425-1553-8050	INLET, Ditch Bottom, FDOT Type E w/Transversable slot, , J Bottom, 8'-0" x 5'-0", < 10'	2.00	ΕA	9,417.00	\$	18,834.00
425-1554-5090	INLET, Ditch Bottom, FDOT Type E w/Transversable slot, J Bottom, 5'-0" x 9'-0", < 10'	2.00	ΕA	10,649.00	\$	21,298.00
425-1556	INLET, Ditch Bottom, FDOT Type E w/Transversable slot, S-302, S-305, S-308, S-313, S-403, S-404, S-406, < 10',	7.00	ΕA	5,066.00	\$	35,462.00
425-1556-5090	INLET, Ditch Bottom, FDOT Type E w/Transversable slot, J Bottom, 5'-0" x 9'-0", > 10'	1.00	EA	12,404.00	\$	12,404.00
425-221-0000	INLET, Curb, FDOT Type 7, < 10'	1.00	EA	6,453.00	\$	6,453.00
425-231-0000	INLET, Curb, FDOT Type 8, < 10'	6.00	EA	4,107.00	\$	24,642.00

FOREST LAKES BOULEVARD PHASE II - WEST OF PINE AVENUE TO WEST OF RACE TRACK ROAD PID NO. 002110A

BID NO. 178-0423-CP(JJ)

# ADDENDUM NO. 4

		1	1	<u>r</u>	Jeiv	ices, inc.
Pay Item No.	Description	Quantity	Unit	Unit Price		Amount
425-2-3636	MANHOLE, FDOT Type P-8, 3'-6" x 3'-6" >10'	1.00	EA	18,127.00	\$	18,127.00
425-2-41	MANHOLE, FDOT TYPE P-8, PARTIAL <10', S-812	1.00	EA	5,768.00	\$	5,768.00
425-2-5040	MANHOLE, FDOT Type J-8, 5'X4' > 10'	1.00	EA	12,475.00	\$	12,475.00
425-2-73	MANHOLE, FDOT TYPE J-7, PARTIAL <10', S-301, S-304, S-307, S-311, S-506, S-510, S-601, S-604, S-607	9.00	EA	6,065.00	\$	54,585.00
425-611-4001	MANHOLE, FDOT Type P-8, 4' Diameter < 10'	3.00	EA	3,725.00	\$	11,175.00
425-751-3020	UNDERDRAIN, INSPECTION BOX (PCED TYPE 1)	37.00	EA	1,625.00	\$	60,125.00
425-825-0000	MANHOLE, Adjust, S-806	1.00	EA	2,561.00	\$	2,561.00
430-121-0015	PIPE CULVERT, CONCRETE, Round, 15" ID	170.00	LF	120.00	\$	20,400.00
430-121-0018	PIPE CULVERT, CONCRETE, Round, 18" ID	2,095.00	LF	119.00	\$	249,305.00
430-121-0024	PIPE CULVERT, CONCRETE, Round, 24" ID	109.00	LF	251.00	\$	27,359.00
430-121-0030	PIPE CULVERT, CONCRETE, Round, 30" ID	136.00	LF	231.00	\$	31,416.00
430-121-0036	PIPE CULVERT, CONCRETE, Round, 36" ID	311.00	LF	177.00	\$	55,047.00
430-122-1423	PIPE CULVERT, CONCRETE, Elliptical, 14" x 23" ID	111.00	LF	134.00	\$	14,874.00
430-122-2438	PIPE CULVERT, CONCRETE, Elliptical, 24" x 38" ID	524.00	LF	180.00	\$	94,320.00
430-420-0024	END SECTION, MITERED, Cross Drain, 24" RCP	1.00	EA	1,829.00	\$	1,829.00
430-420-0030	END SECTION, MITERED, Cross Drain, 30" RCP	2.00	EA	2,981.00	\$	5,962.00
430-830	PIPE FILLING AND PLUGGING - PLACE OUT OF SERVICE	12.00	CY			
431-981-4018	JACK & BORE, 18" Steel Casing, 16 Ga	34.00	LF	1,282.00	\$	43,588.00
431-981-9100	PIPE VIDEO INSPECTION (Includes providing DVD of inspection)	1.00	LS	33,438.00	\$	33,438.00
440-870-1000	6" UNDERDRAIN, FDOT TYPE III MODIFIED	4,748.00	LF	68.00	\$	322,864.00
440-870-2000	6" UNDERDRAIN, NONPERFORATED OUTLET PIPE	448.00	LF	17.00	\$	7,616.00
515-8801	HANDRAIL, Steel Pipe, Galvanized, FDOT Index 880, Pedestrian Height	1,468.00	LF	51.00	\$	74,868.00
520-1000-1000	CURB & GUTTER, Concrete, FDOT Type F	7,142.00	LF	32.00	\$	228,544.00
520-2000-1000	CURB & GUTTER, Concrete, FDOT Type A	84.00	LF	46.00	\$	3,864.00
520-3106	TRAFFIC SEPARATOR, Concrete, FDOT, Type I (6'-0" wide)	169.00	LF	115.00	\$	19,435.00
520-3406	TRAFFIC SEPARATOR, Concrete, FDOT Type IV (6'-0" wide)	2,107.00	LF	94.00	\$	198,058.00

FOREST LAKES BOULEVARD PHASE II - WEST OF PINE AVENUE TO WEST OF RACE TRACK ROAD PID NO. 002110A BID NO. 178-0423-CP(JJ)

# ADDENDUM NO. 4

Pay Item No.	Description	Quantity	Unit	Unit Price		Amount
522-0004	SIDEWALK, CONCRETE, 4" Min. Thickness	5,361.00	SY	31.00	\$	166,191.00
522-1004	SIDEWALK, CONCRETE, 4" Min. Thickness, Remove and Replace	200.00	SY	73.00	\$	14,600.00
522-8000	RAMP, ADA, 6" Min. Thickness	112.00	SY	179.00	\$	20,048.00
575-0103	SODDING, Bahia	54,688.00	SY	2.30	\$	125,782.40
575-0112	SODDING, St. Augustine	5,500.00	SY	4.90	\$	26,950.00
900-0201	OFFICE FOR THE ENGINEER (Large)	908.00	DAY	10.00	\$	9,080.00
	SUBTOTAL ROADWAY / DRAINAGE				\$	9,643,079.90
SIGNALIZATION						
630-2-11	CONDUIT, SIGNALS, OPEN TRENCH, F & I, UNDERGROUND (2")	650.00	LF	15.00	\$	9,750.00
630-2-11A	CONDUIT, SIGNALS, OPEN TRENCH, F & I, UNDERGROUND (4")	4,155.00	LF	20.00	\$	83,100.00
630-2-12	CONDUIT, SIGNALS, F&I, DIRECTIONAL BORE, <6"	1,235.00	LF	28.00	\$	34,580.00
630-2-12A	CONDUIT, F&I, DIRECTIONAL BORE, 6" TO <12"	265.00	LF	27.00	\$	7,155.00
630-2-12B	CONDUIT, F&I, DIRECTIONAL BORE, 12" TO <18"	520.00	LF	40.00	\$	20,800.00
632-7-1	CABLE, SIGNAL, F & I	2.00	ΡI	8,861.00	\$	17,722.00
635-2-11	PULL & SPLICE BOX, F&I, 13X24	18.00	EA	943.00	\$	16,974.00
635-2-12	PULL & SPLICE BOX, F&I, 24X36	10.00	EA	1,838.00	\$	18,380.00
635-2-13	PULL & SPLICE VAULT, F&I, 30X60 RECTANGULAR	3.00	EA	3,730.00	\$	11,190.00
639-1-122	ELEC POWER SRVC, F&I, UG, METER BY CONTRACTOR	2.00	AS	1,348.00	\$	2,696.00
639-2-1	SIGNALS, ELECTRICAL SERVICE WIRE, F & I	20.00	LF	7.30	\$	146.00
641-2-12	POLE, CONCRETE SERVICE, Type P-II, F & I	2.00	EA	11,540.00	\$	23,080.00
646-1-11	ALUMINUM SIGNAL POLE, F&I PEDESTAL	16.00	EA	1,057.00	\$	16,912.00
649-31-203	MAST ARM, F & I, SGL ARM W/O LUM, 60', WINDSPEED 150	4.00	EA	34,779.00	\$	139,116.00
649-31-204	MAST ARM, F & I, SGL ARM W/O LUM, 70.5', WINDSPEED 150	3.00	EA	47,816.00	\$	143,448.00
649-31-205	MAST ARM, F&I, SGL ARM w/out LUM, 78', WINDSPEED 150	1.00	EA	58,119.00	\$	58,119.00
650-1-23	TRAFFIC SIGNAL, F&I, ALUMINUM, 3-1	16.00	AS	853.00	\$	13,648.00
650-1-24	TRAFFIC SIGNAL, F&I, ALUMINUM, 4-1	4.00	AS	1,062.00	\$	4,248.00

FOREST LAKES BOULEVARD PHASE II - WEST OF PINE AVENUE TO WEST OF RACE TRACK ROAD PID NO. 002110A

BID NO. 178-0423-CP(JJ)

# **ADDENDUM NO. 4**

			1 1		Servic	es, Inc.
Pay Item No.	Description	Quantity	Unit	Unit Price		Amount
653-191	PEDESTRIAN SIGNAL, LED, 1 Direction, F & I, Count Down	16.00	AS	562.00	\$	8,992.00
660-4-31	VEHICLE DETECTION SYSTEM VIDEO, INSTALL CABINET EQUIPMENT	2.00	EΑ			
660-4-31	VEHICLE DETECTION SYSTEM VIDEO, F & I CABINET EQUIPMENT	2.00	EA	4,839.00	\$	9,678.00
<del>660-4-32</del>	VEHICLE DETECTION SYSTEM-VIDEO, INSTALL ABOVE GROUND EQUIPMENT	8.00	EA			
660-4-32	VEHICLE DETECTION SYSTEM-VIDEO, F & I ABOVE GROUND EQUIPMENT	8.00	EA	7,357.00	\$	58,856.00
663-74-14	SIGNAL PRE-EMPTION INSTALL OPTICAL COMPLETE	8.00	EA			
663-74-14	SIGNAL PRE-EMPTION F & I OPTICAL COMPLETE	8.00	EA	2,252.00	\$	18,016.00
665-1-11	PEDESTRIAN DETECTOR, F&I, STANDARD	16.00	EA	219.00	\$	3,504.00
<del>670-5-300</del>	TRAFFIC CONTROLLER ASSEMBLY, INSTALL	<del>2.00</del>	AS			
670-5-300	TRAFFIC CONTROLLER ASSEMBLY, F & I	2.00	AS	26,129.00	\$	52,258.00
685-106	SYSTEM AUXILIARIES, F & I, UPS	1.00	EA	5,657.00	\$	5,657.00
690-100	SIGNAL EQUIPMENT, MISCELLANOUS, REMOVE	2.00	PI	2,131.00	\$	4,262.00
690-30	POLE, REMOVAL	8.00	EA	474.00	\$	3,792.00
690-33-1	POLE REMOVAL, Deep, DIRECT BURIAL, COMPLETE	60.00	LF	186.00	\$	11,160.00
690-33-2	POLE REMOVAL, Deep, Bolt on Attachment	120.00	LF	186.00	\$	22,320.00
690-50	CONTROLLER ASSEMBLY, REMOVE, COMPLETE ASSEMBLY	2.00	EA	710.00	\$	1,420.00
700-3-201	SIGN PANEL, FURNISH AND INSTALL OVERHEAD MOUNT, UP TO 12 SF	4.00	EA	547.00	\$	2,188.00
700-5-22	INTERNALLY ILLUM. SIGN, F&I OVERHEAD, 12-18 SF	8.00	EA	3,153.00	\$	25,224.00
	SUBTOTAL SIGNALIZATION				\$	848,391.00
SIGNING & PAVEMENT	MARKINGS					
700-20-11	SIGN, SINGLE POST- LESS THAN 12 SF	30.00	AS	341.00	\$	10,230.00
700-20-12	SIGN, SINGLE POST- 12 SF TO 20 SF	4.00	AS	1,348.00	\$	5,392.00
700-20-40	SIGN, SINGLE POST, RELOCATE	7.00	AS	113.00	\$	791.00
700-20-60	SIGN, SINGLE POST, REMOVE	29.00	AS	1.00	\$	29.00
700-21-11	SIGN, MULTI POST , 50 SF OR LESS	4.00		3,438.00	\$	13,752.00
700-21-12	SIGN, MULTI-POST, 51-100	2.00		4,660.00	\$	9,320.00

# ADDENDUM NO. 4

Pay Item No.	Description	Quantity	Unit	Unit Price	Amount
700-46-12	SIGN, REMOVE, MULTI - POST	1.00	AS	3,087.00	\$ 3,087.00
700-46-22	SIGN, RELOCATE, MULTI - POST	1.00	AS	823.00	\$ 823.00
700-48-48	SIGN PANELS, RELOCATE, 12 SF OR LESS	6.00	ΕA	10.00	\$ 60.00
705-10-4	MARKER OBJECT, POST MOUNTED, TYPE END OF ROAD, TYPE 4	6.00	EA	190.00	\$ 1,140.00
705-11-1	DELINEATOR TUBULAR, FLEXIBLE	11.00	EA	77.00	\$ 847.00
706-3	PAVEMENT MARKERS, RETRO-REFLECTIVE	562.00	EΑ	4.10	\$ 2,304.20
710-11-101	PAINT, STANDARD, WHITE, SOLID, 6"	3.45	GM	1,132.00	\$ 3,905.40
710-11-122	PAINT, STANDARD, WHITE, SOLID, 8"	1,778.00	LF	0.80	\$ 1,422.40
710-11-123	PAINT, STANDARD, WHITE, SOLID, 12"	1,509.00	LF	1.00	\$ 1,509.00
710-11-124	PAINT, STANDARD, WHITE, SOLID, 18"	516.00	LF	1.30	\$ 670.80
710-11-125	PAINT, STANDARD, WHITE, SOLID, 24"	1,857.00	LF	1.70	\$ 3,156.90
710-11-131	PAINT, STANDARD, WHITE, 10' - 30',3' - 9',SKIP, 6"	2.36	GM	400.00	\$ 944.00
710-11-141	PAINT, STANDARD, WHITE, DOTTED GUIDELINE, 6"	2,116.00	LF	0.20	\$ 423.20
710-11-160	PAINT, STANDARD, WHITE, MESSAGE	8.00	EA	41.00	\$ 328.00
710-11-170	PAINT, STANDARD, WHITE, ARROW	51.00	EA	26.00	\$ 1,326.00
710-11-201	PAINT, STANDARD, YELLOW, SOLID, 6"	2.53	GM	1,130.00	\$ 2,858.90
710-11-222	PAINT, STANDARD, YELLOW, SOLID, 8"	259.00	LF	0.80	\$ 207.20
710-11-224	PAINT, STANDARD, YELLOW, SOLID, 18"	81.00	LF	1.30	\$ 105.30
710-11-241	PAINT, STANDARD, YELLOW, DOTTED GUIDELINE, 6"	792.00	LF	0.20	\$ 158.40
710-11-290	PAINTED PAVEMENT MARKING, STD, YELLOW, ISLAND NOSE	355.00	SF	2.30	\$ 816.50
713-101-160	TAPE, PRE-FORMED, STANDARD, WHITE, MESSAGE	29.00	EA	165.00	\$ 4,785.00
713-101-170	TAPE, PRE-FORMED, STANDARD, WHITE, ARROWS	29.00	EA	72.00	\$ 2,088.00
	SUBTOTAL SIGNING & PAVEMENT MARKINGS				\$ 72,480.20
			Bas	e Bid	\$ 10,563,951.10
999-0000	UNSPECIFIED WORK (Allowance)	1,000,000.00	EA	1.00	\$ 1,000,000.00
	*Add Base Bid + Unspecified Work for Total Bid*	·	TOTA	AL BID	\$ 11,563,951.10

FOREST LAKES BOULEVARD PHASE II - WEST OF PINE AVENUE TO WEST OF RACE TRACK ROAD PID NO. 002110A

BID NO. 178-0423-CP(JJ)

# **ADDENDUM NO. 4**

					Servi	ces, Inc.
Pay Item No.	Description	Quantity	Unit	Unit Price		Amount
JPA WITH CITY OF OLD	SMAR (OPTION)					
OL-01	MOBILIZATION/DEMOBILIZATION/GENERAL CONDITIONS (Max. 5% of Bid Amount)	1.00	LS	20,000.00	\$	20,000.00
OL-02	MAINTENANCE OF TRAFFIC (Max. 1.5% of Bid Amount)	1.00	LS	6,000.00	\$	6,000.00
OL-03a	PREVENTION, CONTROL, AND ABATEMENT OF EROSION AND WATER POLLUTION (Max. 1% f Bid Amount)	1.00	LS	250.00	\$	250.00
OL-03b	SURVEY LAYOUT & RECORD DOCUMENTS (2.5 % max)	1.00	LS	10,000.00	\$	10,000.00
OL-04ai	DEMOLITION AND REMOVAL, 2-inch Fiber Optic Casing	365.00	LF	18.00	\$	6,570.00
OL-04aii	DEMOLITION AND REMOVAL, 2-inch Fiber Optic Cable	2,200.00	LF	13.00	\$	28,600.00
OL-04b	DEMOLITION AND REMOVAL, 4-inch Pipe	360.00	LF	24.00	\$	8,640.00
OL-04c	DEMOLITION AND REMOVAL, 8-inch Pipe	200.00	LF	22.00	\$	4,400.00
OL-04d	DEMOLITION AND REMOVAL, 10-inch Pipe	500.00	LF	17.00	\$	8,500.00
OL-04e	DEMOLITION AND REMOVAL, 16-inch Pipe	365.00	LF	18.00	\$	6,570.00
OL-05a	OPEN CUT PIPE INSTALLATION, 4-inch PVC	360.00	LF	92.00	\$	33,120.00
OL-05b	OPEN CUT PIPE INSTALLATION, 8-inch PVC	200.00	LF	106.00	\$	21,200.00
OL-05c	OPEN CUT PIPE INSTALLATION, 10-inch HDPE	500.00	LF	148.00	\$	74,000.00
OL-05d	OPEN CUT PIPE INSTALLATION, 16-inch HDPE, Inc 1ARV	365.00	LF	190.00	\$	69,350.00
OL-05e	OPEN CUT PIPE INSTALLATION, 2-inch Fiber Optic Casing, including 2 Pull Boxes	365.00	LF	10.00	\$	3,650.00
OL-06a	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 4-inch 45 degree Bend	4.00	EA	261.00	\$	1,044.00
OL-06b	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 8-inch 45 degree Bend	2.00	EA	295.00	\$	590.00
OL-06c	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 4-inch 11.25 degree Bend	1.00	EA	261.00	\$	261.00
OL-06d	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 10-inch x 4-inch Tee	1.00	EA	563.00	\$	563.00
OL-06e	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, Sample Tap	6.00	EA	768.00	\$	4,608.00
OL-06f	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, Temporary Jumper	2.00	EA	2,331.00	\$	4,662.00
OL-06g	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, Temporary Blowoff	5.00	EA	633.00	\$	3,165.00
OL-06h	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 4" Sleeve	3.00	EA	1,513.00	\$	4,539.00
OL-06i	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 8" Sleeve	1.00	EA	1,522.00	\$	1,522.00
OL-06j	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 10" Sleeve	8.00	EA	4,275.00	\$	34,200.00

FOREST LAKES BOULEVARD PHASE II - WEST OF PINE AVENUE TO WEST OF RACE TRACK ROAD PID NO. 002110A BID NO. 178-0423-CP(JJ)

# ADDENDUM NO. 4

Pay Item No.	Description	Quantity	Unit	Unit Price	Amount
OL-06k	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 16" Sleeve	2.00	EA	4,543.00	\$ 9,086.00
<del>OL-06I</del>	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, Connection to 4" Main	3.00	EΑ		
<del>OL-06m</del>	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, Connection to 8" Main	1.00	EΑ		
<del>OL-06n</del>	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, Connection to 10" Main	8.00	EΑ		
<del>OL-060</del>	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, Connection to 16" Main	2.00	EΑ		
OL-06p	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 8" Tee	1.00	EA	769.00	\$ 769.00
OL-06q	FURNISH AND INSTALL FITTINGS AND CONNECTIONS, 8" 90 degree Bend	1.00	EA	399.00	\$ 399.00
OL-07a	FURNISH AND INSTALL GATE VALVE, 8-inch Gate Valve	1.00	EA	2,090.00	\$ 2,090.00
OL-07b	FURNISH AND INSTALL GATE VALVE, 10-inch Gate Valve	1.00	EA	3,101.00	\$ 3,101.00
OL-07c	FURNISH AND INSTALL GATE VALVE, 16-inch Gate Valve	1.00	EA	7,010.00	\$ 7,010.00
OL-07d	FURNISH AND INSTALL TAPPING SLEEVE AND VALVE, 16"X6" Tapping Sleeve and 6" Taping Valve	1.00	EA	5,926.00	\$ 5,926.00
OL-08	AIR RELEASE VALVE	1.00	EA	4,016.00	\$ 4,016.00
OL-09	VALVE ADJUSTMENT	3.00	EA	764.00	\$ 2,292.00
OL-10	MANHOLE ADJUSTMENT	2.00	EA	3,235.00	\$ 6,470.00
OL-11	RELOCATING FIRE HYDRANT ASSEMBLY	1.00	LS	4,670.00	\$ 4,670.00
OL-12	Furnish and Install Fiber Optic Cable, including Connections	2,200.00	LF	11.00	\$ 24,200.00
OL-13	UNSPECIFIED WORK FOR UTILITY RELOCATION (ALLOWANCE)	35,352.00	EA	1.00	\$ 35,352.00
		тот	AL JP	A OPTION	\$ 461,385.00

# **Document A310 TM - 2010**

Conforms with The American Institute of Architects AIA Document 310

#### **Bid Bond**

CONTRACTOR:

(Name, legal status and address)

SURETY:

(Name, legal status and principal place of business)

Pepper Contracting Services, Inc.

6920 Asphalt Ave.

Tampa, FL 33614

**QBE Insurance Corporation** 

55 Water Street, 20th Floor

New York, NY 10041

This document has important legal consequences. Consultation with an attorney is encouraged with respect to its completion or modification.

Any singular reference to Contractor, Surety, Owner or other party shall be considered plural where applicable.

OWNER:

(Name, legal status and address)

Pinellas County Board of County Commissioners

400 South Fort Harrison Avenue

Clearwater, FL 33756

BOND AMOUNT: \$ 5%

Five Percent of Amount Bid

PROJECT:

(Name, location or address, and Project number, if any)

Forest Lakes Boulevard Phase II (Bid No. 178-0423-CP(JJ)/PID No. 00211A)

The Contractor and Surety are bound to the Owner in the amount set forth above, for the payment of which the Contractor and Surety bind themselves, their heirs, executors, administrators, successors and assigns, jointly and severally, as provided herein. The conditions of this Bond are such that if the Owner accepts the bid of the Contractor within the time specified in the bid documents, or within such time period as may be agreed to by the Owner and Contractor, and the Contractor either (1) enters into a contract with the Owner in accordance with the terms of such bid, and gives such bond or bonds as may be specified in the bidding or Contract Documents, with a surety admitted in the jurisdiction of the Project and otherwise acceptable to the Owner, for the faithful performance of such Contract and for the prompt payment of labor and material furnished in the prosecution thereof; or (2) pays to the Owner the difference, not to exceed the amount of this Bond, between the amount specified in said bid and such larger amount for which the Owner may in good faith contract with another party to perform the work covered by said bid, then this obligation shall be null and void, otherwise to remain in full force and effect. The Surety hereby waives any notice of an agreement between the Owner and Contractor to extend the time in which the Owner may accept the bid. Waiver of notice by the Surety shall not apply to any extension exceeding sixty (60) days in the aggregate beyond the time for acceptance of bids specified in the bid documents, and the Owner and Contractor shall obtain the Surety's consent for an extension beyond sixty (60) days.

If this Bond is issued in connection with a subcontractor's bid to a Contractor, the term Contractor in this Bond shall be deemed to be Subcontractor and the term Owner shall be deemed to be Contractor.

When this Bond has been furnished to comply with a statutory or other legal requirement in the location of the Project, any provision in this Bond conflicting with said statutory or legal requirement shall be deemed deleted herefrom and provisions conforming to such statutory or other legal requirement shall be deemed incorporated herein. When so furnished, the intent is that this Bond shall be construed as a statutory bond and not as a common law bond.

Pepper Contracting Services, Inc.

(Witness)

By:

(Title) (erry B. Cras.de, fusident

QBE Insurance Corporation

(Seal)

By:

(Title) Kevin R. Wojtowicz Attorney-in-Fact

# QBE

COUNTY OF NEW YORK

#### WARNING: THIS POWER OF ATTORNEY IS INVALID WITHOUT THE BLUE BORDER

#### POWER OF ATTORNEY

KNOWN ALL PERSONS BY THESE PRESENTS, that QBE Insurance Corporation (the "Company"), a corporation duly organized and existing under the laws of the State of Pennsylvania, having its principal office at 55 Water Street 20th Floor, New York, NY 10041, has made, constituted and appointed, and does by these presents make, constitute and appoint Kevin R. Wojtowicz, of Nielson, Hoover & Company, Inc. of St. Petersburg, FL its true and lawful Attorney-in-Fact, to sign its name as surety only as delineated below and to execute, seal, acknowledge and deliver any and all bonds and undertakings, with the exception of financial guaranty insurance, to the same extent as if such bonds had been duly executed and acknowledged by the regularly elected officers of the Company at its principal office in their own proper persons.

This Power of Attorney shall be construed and enforced in accordance with, and governed by, the laws of the State of New York, without giving effect to the principles of conflict of laws. This Power of Attorney is granted pursuant to the following resolutions, which were duly and validly adopted at a meeting of the Board of Directors of the Company with effect from June 30, 2014:

**RESOLVED**, that the Chief Executive Officer, any President, any Executive Vice President, any Senior Vice President, any Vice President, the Corporate Secretary or any Assistant Corporate Secretary is authorized to appoint one or more Attorneys-in-Fact and agents to execute on behalf of the Company, as surety, any and all bonds, undertakings and contracts of suretyship, or other written obligations in the nature thereof, to prescribe their respective duties and the respective limits of their authority; and to revoke any such appointment at any time;

FURTHER RESOLVED, that any bond, recognizance, contract of indemnity, or writing obligatory in the nature of a bond, recognizance, or conditional undertaking will be valid and binding upon the Company when (a) signed by any of the aforesaid authorized officers; or (b) duly executed (under seal, if required) by one or more Attorneys-in-Fact and agents pursuant to the power prescribed in his/her certificate or their certificates of authority or by one or more Company officers pursuant to a written delegation of authority; and

FURTHER RESOLVED, that the signature of any authorized officer and the seal of the Company may be drawn on or affixed by facsimile or electronically transmitted by email to any power of attorney or certification thereof authorizing the execution and delivery of any bond, undertaking, recognizance, or other suretyship obligation of the Company, and such signature and seal when so used shall have the same force and effect as though manually affixed. The Company may continue to use for the purposes herein stated the facsimile or electronically reproduced signature of any person or persons who shall have been such officer or officers of the Company, notwithstanding the fact that they may have ceased to be such at the time when such instruments shall be issued.

IN WITNESS WHEREOF, the Company has caused these presents to be signed and attested by its appropriate officers and its corporate seal hereunto affixed this December 15, 2017.

	Attest		QBE II	NSURANCE CORPORATION
(Seal)	Ву:	Brett Halsey	Ву:	Mari
		Brett Halsey		Matt Curran
		Senior Vice President		Senior Vice President
STATE OF NEW YORK	<	lan .		

On this December 15, 2017, before me personally appeared Brett Halsey and Matt Curran, both to me known to be Senior Vice Presidents of QBE Insurance Corporation, and that each, as such, being authorized to do, execute the foregoing instrument for the purposes therein contained by signing on behalf of the corporation by each as a duly authorized officer.

Harpreet Kaur Mann
Notary Public, State of New York
No. 02MA6335099
Qualified in New York County
Commission Expires December 28, 2019
CERTIFICATE

I, Jose Ramon Gonzalez, Jr., the undersigned, Corporate Secretary of QBE Insurance Corporation do hereby certify that the foregoing is a true, correct and complete copy of the original Power of Attorney; that said Power of Attorney has not been revoked or rescinded and that the authority of the Attorney-in-Fact set forth herein, who executed the bond or undertaking to which this Power of Attorney is attached, is in full force and effect as of this date.

Given under my hand and seal of the Company	, this 17th da	ry of July	2018
(Seal)		, , ,	
	By:	JiR. N.	

Jose Ramon Gonzalez, Jr., Corporate Secretary

W9

Subs	Request for Taxpayer Identification Number and Certification	cation		Give form to the requester. Do not send to the IRS.					
	Name (as shown on your income tax return)								
e 2.									
n pag	Business name, it different from above								
Print or type See Specific Instructions on page	Check appropriate box: Individual/Sole proprietor Corporation Partnership Limited liability company. Enter the tax classification (D=disregarded entity, C=corporation, P=p Other (see instructions)	artnership) >		Exempt payes					
int	Address (number, street, and apt, or suite no.)	Requester*	s name and	address (optional)					
F P	6920 Asphalt Avenue	6							
eci	City, state, and ZIP code								
Sp	Tampa, FL 33614								
8	List account number(s) here (optional)								
Pari	Taxpayer Identification Number (TIN)								
back alien	er your TIN in the appropriate box. The TIN provided must match the name given on Line 1 kup withholding. For individuals, this is your social security number (SSN). However, for a real, sole proprietor, or disregarded entity, see the Part I instructions on page 3. For other entities employer identification number (EIN). If you do not have a number, see How to get a TIN or	esident ties, it is	Social sec	urity number					
	<ul> <li>If the account is in more than one name, see the chart on page 4 for guidelines on whos iber to enter.</li> </ul>	е	Employer i	dentification number 3221511					
Pari	t II Certification								
Unde	er penalties of perjury, 1 certify that:								
1. T	The number shown on this form is my correct taxpayor identification number (or I am waitin	g for a num	ber to be i	ssued to mel, and					
2. I	am not subject to backup withholding because: (a) I am exempt from backup withholding, Revenue Service (IRS) that I am subject to backup withholding as a result of a failure to rep notified me that I am no longer subject to backup withholding, and	or (b) I hav	e not been	notified by the Internal					
	am a U.S. citizen or other U.S. person (defined in the instructions).								
withfr For r arran	ification instructions. You must cross out item 2 above if you have been notified by the #holding because you have failed to report all interest and dividends on your tax return. For mortgage interest paid, acquisition or abandonment of secured property, cancellation of de agement (IRA), and generally, payments other than interest and dividends, you are not require your correct TIN. See the instructions on page 4.	real estate l bt, contribu	transactions tions to an	item 2 does not apply. individual retirement					

\*Instructions to Form W-9 available upon request.

Detach on the perforation

Signature of

U.S. person >

Sign

Here

#### Section 119.071(5), Florida Statutes Notice:

Your Tax Identification Number (which for individuals is your social security number) is **collected** on Form W9 for use in filing information returns with the IRS as described more fully below. Collection of the tax identification number (or social security number as applicable) is mandatory pursuant to Section 6109 of the Internal Revenue Code (26 U.S.C § 6109).

#### **Privacy Act Notice:**

Section 6109 of the Internal Revenue Code requires you to provide your correct TIN to persons who must file information returns with the IRS to report interest, dividends, and certain other income paid to you, mortgage interest you paid, the acquisition or abandonment of secured property, cancellation of debt, or contributions you made to an IRA, or Archer MSA or HSA. The IRS uses the numbers for identification purposes and to help verify the accuracy of your tax return. The IRS may also provide this information to the Department of Justice for civil and criminal litigation, and to cities, states, the District of Columbia, and U.S. possessions to carry out their tax laws. We may also disclose this information to other countries under a tax treaty, to federal and state agencies to enforce federal nontax criminal laws, or to federal law enforcement and intelligence agencies to combat terrorism.

You must provide your TIN whether or not you are required to file a tax return. Payers must generally withhold 28% of taxable interest, dividend, and certain other payments to a payee who does not give a TIN to a payer. Certain penalties may also apply.

FΙ	FC'	TRO	DNIC	PAY	MENT	(EPA	YABL	ES):
		111/	/I 11 V		141-14.	\ <b>—</b> : /		

The Board of County Commissioners (County) is offering faster payments. The County would prefer to make payment using credit card.

Would your company accept to participate in the ePayables credit card program?

Yes ☐ No 🗹

For more information about ePayables credit card program please visit Purchasing Department website www.pinellascounty.org/purchase.

Company Name

Pepper Contracting Services, Inc.

Signature

Printed Signature

Gary L. Justice, SR VP

#### BID SUBMITTAL OFFICERS FORM

BID TITLE: Forest Lakes Boulevard Phase II - West of Pine Avenue to West of Race Track Road (PID 002110A)

BID NUMBER: 178-0423-CP (JJ)

Each Bid by an individual or firm shall state the name and address of each person who owns an interest therein, and, if any corporation, the name and addresses of its officers, or if an LLC, the name and address of its members. Bids shall be signed by the person or member of the firm making the same, and if a corporation, by an authorized officer or agent, subscribing the name of the corporation, together with his own name and the corporate seal.

The Bidder further agrees to execute the Agreement within ten (10) calendar days after receipt of notice of award, and within the time frame of Section H – Agreement.

The Bidder further agrees to bear the full cost of maintaining all Work until the final acceptance.

Accompanying the Bid is a Bid Guarantee, meeting the requirements described in the Instruction to Bidders.

The Contractor's address and principal place of business is:

6920 Asp	halt Avenue, Tampa, FL 33614	
If Contractor is a	Corporation, list the names, titles and b	usiness addresses of its President, Secretary and Treasurer.
PRESIDENT	Terry B. Cradick	ADDRESS:
	Printed Name	6920 Asphalt Avenue, Tampa, FL 33614
SECRETARY	Suzi Baxter	ADDRESS:
	Printed Name	6920 Asphalt Avenue, Tampa, FL 33614
TREASURER	Douglas J. Ebbers	ADDRESS:
	Printed Name	6920 Asphalt Avenue, Tampa, FL 33614

178-0423-CP (J.	J)		Page 47 of 64
	SECTION E - BIL	SUBM	IITTAL FORM
•	n is qualified to do business in the State of Florida.	Ву	Lens a Rue, aut
Corporation Na		_ ′	President Terry B. Cradick, President
			***CORPORATE SEAL***
			Douglas J. Ebbers, Executive VP  Qualifying Agent
			CGC 1510959
			Contractor's Registration or Certificate No. issued by the State of Florida
If Contractor is n Name	not a corporation, list the name(s) and business addi N/A Printed Name	ress(es) c	
Name	Printed Name	ADDRE	ESS:
Name		ADDRE	ESS:
The said compar	Printed Name  ny or business entity is a sole proprietorship, partners	hip, or joi	int venture and is trading and doing business as
	#=		Company Name
	By:		
			ne of Firm or Qualifying Agent
			ntractor's Registration or Certification No. issued by the State lorida

REVISED: 07/2017

#### FLORIDA TRENCH SAFETY ACT

#### CERTIFICATION AND DISCLOSURE STATEMENT

The undersigned acknowledges the requirements of the Florida Trench Safety Act (Section 553.60 et. seq. Florida Statutes).

- A. The Bidder further acknowledges that the Florida Trench Safety Act, (the Act) establishes the Federal excavation safety standards set forth at 29 C.F.R. Section 1926,650 Subpart P, as the interim state standard until such time as the state of Florida, through its Department of Labor and Employment Security, or any successor agency, adopts, updates, or revises said interim standard. This State of Florida standard may be supplemented by special shoring requirements established by the State of Florida or any of its political subdivisions.
- B. The Bidder, as Contractor, shall comply with all applicable excavation/trench safety standards.
- C. The contractor shall consider the geotechnical data available from the County, if any, the Contractor's own sources, and all other relevant information in its design of the trench safety system to be employed on the subject Project. The Contractor acknowledges sole responsibilities for the selection of the data on which it relies in designing the safety system, as well as for the system itself.
- D. The amounts that the Bidder has set forth for pipe installation includes the following excavation/trench safety measures and the linear feet of trench excavated under each safety measure. These units, costs, and unit values shall be disclosed solely for the purpose of compliance with procedural requirements of the Act. No adjustment to the Agreement Time or price shall be made for any difference in the actual number of linear feet of trench excavation, except as may be otherwise provided in these Contract Documents.

	Trench Safety Measure (Description)	Units of Measure (LF, SF)	Unit (Quantity)	Unit Cost	Extended Cost
1.	Sloping - Storm	LF	2322	\$ 2.00/LF	\$ 4,644.00
2.	Trench Box - Storm	LF	1175	\$ 4.00/LF	\$ 4,700.00
3.	Sloping - Utilities	LF	1425	\$ 2.00/LF	\$ 2,850.00
4.				\$	\$
5.				\$	\$

For Information	Only.	Not for	Payment	Purposes

\$ 12,194.00

Bidder may use additional sheets as necessary to extend this form. Failure to complete the above may result in the bid being declared non-responsive.

- E. The amount disclosed as the cost of compliance with the applicable trench safety requirements does not constitute the extent of the Contractor's obligation to comply with said standards. The Contractor shall extend additional sums at no additional cost to the County, if necessary, to comply with the Act (except as otherwise be provided).
- F. Acceptance of the bid to which this certification and disclosure applies in no way represents that the County or its representatives has evaluated and thereby determined that the above costs are adequate to comply with the applicable trench safety requirements nor does it in any way relieve the Contractor of its sole responsibility to comply with the applicable trench safety requirements.

Pepper Contracting Services, Inc.

Company Name
Terry B. Cradick, President

Name and Title

(813) 868-7719 / (844) 270-0011

Address:
6920 Asphalt Avenue, Tampa, FL 33614

59-3221511

Federal Employee ID NO. (FEIN)

terro@peppercontracting.com
Email of Account Representative

178-0423-CP (JJ) ITB Page 49 - Add 3 Page 49 of 64

#### SECTION F ADDENDA ACKNOWLEDGEMENT FORM

SECTION F - ADDENDA ACKNOWLEDGEMENT FORM:

Bid Title: Forest Lakes Boulevard Phase II - West of Pine Avenue to West of Race Track Road (PID 002110A)

Bid No: 178-0423-CP (JJ)

PLEASE ACKNOWLEDGE RECEIPT OF ADDENDA FOR THIS ITB BY SIGNING AND DATING BELOW:

ADDENDUM NO.	SIGNATURE/PRINTED NAME	DATE RECEIVED
1	Terry B. Cradick	July 12, 2018
2	Terry B. Cradick	July 16, 2018
3	Terry B. Cradick	July 20, 2018
4	GARY L. JUSTICE	7-24-2018
	/_ * ·	

Note: Prior to submitting the response to this solicitation, it is the responsibility of the firm submitting a response to confirm if any addenda have been issued. If such addendum(s) has been issued, acknowledge receipt by signature and date in this section. Failure to do so may result in being considered non-responsive.

Information regarding Addenda issued is available on the Purchasing Department's website at, <a href="https://www.pinellascountv.org/purchase/Current Bids1.htm">www.pinellascountv.org/purchase/Current Bids1.htm</a>, listed under category 'Current Bids'.

**REVISED: 07/2017** 

# DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION CONSTRUCTION INDUSTRY LICENSING BOARD STATE OF FLORIDA

ii.	
8	959
3	100
Į.	10
ž	99
3	Ü
1	

Under the provisions of Chapter 489 FS Expiration date: AUG 31, 2018 The GENERAL CONTRACTOR Named below IS CERTIFIED





TAMPA

FL 33614

09/01/2016 SSUED:

DISPLAY AS REQUIRED BY LAW



SEQ # L1609010003061

# DEPARTMENT OF BUSINESS AND PROFESSIONAL REGULATION CONSTRUCTION INDUSTRY LICENSING BOARD STATE OF FLORIDA

# LICENSE NUMBER CUC056840

The UNDERGROUND UTILITY & EXCAVATION CO

Named below IS CERTIFIED

Under the provisions of Chapter 489 FS, Expiration date: AUG 31, 2018

CRADICK, TERRY B
PEPPER CONTRACTING SERVICES INC 6920 ASPHALT AVE TAMPA

FL 33614



DISPLAY AS REQUIRED BY LAW

08/22/2016

ISSUED.

SEC# L1608220002175



REKSCOTT

605 Suwannee Street Finfiahassee, FL 32399-0430 RACHEL DECOM-INTERIORS GRETARY

April 5, 2017

PEPPER CONTRACTING SERVICES, INC. 6900 ASPHALT AVE TAMPA FL 33614

PE: CERTIFICATE OF QUALIFICATION

Dear Sir/Madam!

The Department of Transportation has qualified your company for the type of work indicated below. Unless your company is notified otherwise, this Certificate of Qualification will expire 6/30/2018. However, the new application is due 4/30/2018.

In accordance with S.337.14 (1) F.S. your next application must be filed within (4) months of the ending date of the applicant's audited annual financial statements.

If your company's maximum capacity has been revised, you can access it by logging into the Contractor Prequalification Application System via the following link: https://www3.dot.state.fl.us/ContractorPreQualification/

Once logged in, select "View" for the most recently approved application, and then click the "Manage" and "Application Summary" tabs.

#### FDOT APPROVED WORK CLASSES:

DRAINGE, FLEXIPLE PAVING, GRAETING, GRASSING, SEEDING AND SODDING, HOT PLANT-MIXED BITUM. COURSES, INTERMEDIATE BRIDGES, MINOR BRIDGES, PORTLAND CEMENT CONCRETE POADWAY PAVING, PAR INTERMEDIATE BRIDGES ("RAR" IS REPAIR AND REMABILITATE), PAR MINOR BRIDGES, SIDEWALK, SOUND (NOISE) BAPRIER WALL), CURB & GUTTEP, DITCH PAVEMENT, ADA PAMPS, UNDERGROUND UTILITIES (WATER & SEWER), RIPRAP, CONCRETE PAVEMENT PEPAIRS, SPALS, PEFAIR, STEEL SHEET PILING, RETAINING WALL, SEAWALL, TIEBACKS.

You may apply for a Revised Certificate of Qualification at any time prior to the expiration date of this certificate according to Section 14-22.0041(3), Florida Administrative Code (F.A.C.), by accessing your most recently approved application as shown above and choosing "Update" instead of "View." It certification in additional classes of work is desired, documentation is needed to show that your company has done such work with your own forces and equipment or that experience was gained with another contractor and that you have the necessary equipment for each additional class of work requested.

All prequalified contractors are required by Section 14-22.006(3), F.A.C., to certify their work underway monthly in order to adjust maximum bidding capacity to available bidding capacity. You can find the link to this report at the website shown above.

Sincerely,

Alan Aut., Manager

Contracto Administration Office

AA: #1

# State of Florida Department of State

I certify from the records of this office that PEPPER CONTRACTING SERVICES, INC. is a corporation organized under the laws of the State of Florida, filed on December 21, 1993.

The document number of this corporation is P93000086940.

I further certify that said corporation has paid all fees due this office through December 31, 2018, that its most recent annual report/uniform business report was filed on January 22, 2018, and that its status is active.

I further certify that said corporation has not filed Articles of Dissolution.

Given under my hand and the Great Seal of the State of Florida at Tallahassee, the Capital, this the Twenty-second day of January, 2018



Ken Detmin Secretary of State

Tracking Number: CC6920310081

To authenticate this certificate, visit the following site, enter this number, and then follow the instructions displayed.

https://services.sunbiz.org/Filings/CertificateOfStatus/CertificateAuthentication



#### CERTIFICATE OF LIABILITY INSURANCE

DATE (MM/DD/YYYY) 03/05/2018

THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AFFIRMATIVELY OR NEGATIVELY AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW. THIS CERTIFICATE OF INSURANCE DOES NOT CONSTITUTE A CONTRACT BETWEEN THE ISSUING INSURER(S), AUTHORIZED REPRESENTATIVE OR PRODUCER, AND THE CERTIFICATE HOLDER.

IMPORTANT: If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must have ADDITIONAL INSURED provisions or be endorsed. If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

	9				
PRODUCER	1-813-229-8021	CONTACT NAME:	Diana Defreeuw		
M. E. Wilson Company, LLC		PHONE (A/C, No. Ext	<sub>):</sub> 813-984-3619	FAX (A/C, No): 813	-434-2492
300 W. Platt St.		E-MAIL ADDRESS:	ddefreeuw@mewilson.com		· · · · · · · · · · · · · · · · · · ·
Ste 200			INSURER(S) AFFORDING COVERAGE		NAIC#
Tampa, FL 33606		INSURER A :	TRAVELERS IND CO OF AMER		25666
INSURED		INSURER B :	TRAVELERS PROP CAS CO OF A	MER	25674
Pepper Contracting Services, Inc.			INSURER C: NORTH RIVER INS CO		
6920 Asphalt Avenue		INSURER D :	BRIDGEFIELD CAS INS CO		10335
-		INSURER E :			
Tampa, FL 33614		INSURER F :			
COVERAGES	CERTIFICATE NUMBER: 52212925		REVISION N	UMBER:	

THIS IS TO CERTIFY THAT TH	E POLICIES OF INSURANCE LISTE	D BELOW HAVE BEEN ISSUED TO	THE INSURED NAMED	ABOVE FOR THE POLICY PERIOD
INDICATED. NOTWITHSTAND	ING ANY REQUIREMENT, TERM OF	R CONDITION OF ANY CONTRACT	OR OTHER DOCUMENT	FWITH RESPECT TO WHICH THIS
CERTIFICATE MAY BE ISSUEI	D OR MAY PERTAIN, THE INSURAI	NCE AFFORDED BY THE POLICIE	S DESCRIBED HEREIN	IS SUBJECT TO ALL THE TERMS,
EXCLUSIONS AND CONDITION	IS OF SUCH POLICIES. LIMITS SHOW	IN MAY HAVE BEEN REDUCED BY	PAID CLAIMS.	
NSR	ADDLISUBR	POLICY EFF	POLICY EXP	(11170

INSR		TYPE OF INSURANCE	ADDL	SUBR	POLICY NUMBER	POLICY EFF (MM/DD/YYYY)	POLICY EXP (MM/DD/YYYY)	LIMIT	'S
A	x	CLAIMS-MADE X OCCUR			CO0J415054TIA18	01/01/18	01/01/19	EACH OCCURRENCE DAMAGE TO RENTED PREMISES (Ea occurrence)	\$ 1,000,000 \$ 300,000
								MED EXP (Any one person)	\$ 10,000
								PERSONAL & ADV INJURY	\$ 1,000,000
	GEN	L'L AGGREGATE LIMIT APPLIES PER:						GENERAL AGGREGATE	\$ 2,000,000
		POLICY X PRO-						PRODUCTS - COMP/OP AGG	\$ 2,000,000
		OTHER:							\$
В	AUT	OMOBILE LIABILITY			8100J425453TIL18	01/01/18	01/01/19	COMBINED SINGLE LIMIT (Ea accident)	\$ 1,000,000
i	x	ANY AUTO						BODILY INJURY (Per person)	\$
		OWNED SCHEDULED AUTOS ONLY AUTOS						BODILY INJURY (Per accident)	\$
	х	HIRED X NON-OWNED AUTOS ONLY						PROPERTY DAMAGE (Per accident)	\$
									\$
С	x	UMBRELLA LIAB X OCCUR			5811099327	01/01/18	01/01/19	EACH OCCURRENCE	\$ 8,000,000
		EXCESS LIAB CLAIMS-MADE						AGGREGATE	\$ 8,000,000
		DED X RETENTION \$ 0							\$
D		KERS COMPENSATION			019642055	01/01/18	01/01/19	X PER OTH- STATUTE ER	
	ANYF	PROPRIETOR/PARTNER/EXECUTIVE	N/A	ĺ				E.L. EACH ACCIDENT	\$ 500,000
	(Man	datory in NH)						E.L. DISEASE - EA EMPLOYEE	§ 500,000
	If yes	i, describe under CRIPTION OF OPERATIONS below						E.L. DISEASE - POLICY LIMIT	\$ 500,000
DESC	RIPT	ION OF OPERATIONS / LOCATIONS / VEHICL	ES (A	CORD	101, Additional Remarks Schedule, may b	e attached if mor	e space is require	ed)	

* General Aggregate applies per pro	ject when required by written contract.	
CERTIFICATE HOLDER	CANCELLATION	

OLIVIII IOATE HOLDER	ONTOLLETTION
SAMPLE CERTIFICATE	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES BE CANCELLED BEFORE THE EXPIRATION DATE THEREOF, NOTICE WILL BE DELIVERED IN ACCORDANCE WITH THE POLICY PROVISIONS.
	AUTHORIZED REPRESENTATIVE
	Janet G. Augtori

© 1988-2015 ACORD CORPORATION. All rights reserved.